Tableaux des Puissances de Dix (G)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (G) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0005 0,05 0,5 0,005
19 0,0095 0,95 9,5 0,095
66 0,033 3,3 33 0,33
21 0,0105 1,05 10,5 0,105
36 0,018 1,8 18 0,18
97 0,0485 4,85 48,5 0,485
X 0,06 0,6 0,006 0,0006
69 4,14 41,4 0,414 0,0414
40 2,4 24 0,24 0,024
32 1,92 19,2 0,192 0,0192
26 1,56 15,6 0,156 0,0156
20 1,2 12 0,12 0,012
X 0,005 0,0005 0,5 0,05
13 0,065 0,0065 6,5 0,65
81 0,405 0,0405 40,5 4,05
38 0,19 0,019 19 1,9
100 0,5 0,05 50 5
19 0,095 0,0095 9,5 0,95
X 0,07 0,007 0,0007 0,7
51 3,57 0,357 0,0357 35,7
36 2,52 0,252 0,0252 25,2
41 2,87 0,287 0,0287 28,7
98 6,86 0,686 0,0686 68,6
66 4,62 0,462 0,0462 46,2
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